
Multiply 13456 by 2004.

in thedwt method only two p«ti.l product, .ppe«!;

I «»J?'„Sl!. r** "^^'^ ^ multiHying by 4 wd 2

nmrldng the abeenoe of any other characters in the product

Regular method.

13456 Short method.
2004 13456

2004
53824

00000 53824
00000 26912
26912

26965824
26965824

*«Mni»l«. •Multiply 5760 by 3000.

«* ?!**^**?*: ^n *•»•*»* it » necessary only to multiply

aphen, foj««l at the right of both multipUer and multipli-

I

«nd, m this case, four, giving as the final result 17280000.

5760

3000

17280000

21


